ANSWERS — VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS
Chapter 4, Members Subject to Bending and Extension problem 4.080, page 259

Remarks: See 84.4, pages 168 till 170
See 84.5.4, pages 179 till 182

Hint:
Sketch the stress diagram due to N and M. Assume that M causes
tension at the bottom and compression at the top. (The opposite is

possible).
ANswers: Explanation:
a. N =-90 kN ) _ M -3h (3x10° Nmm)(100 mm) _ 450 N/mm
& Oma =7 L O
b. oy =—12 N/mm? 1,0(200 mm)
' max
O'(N) _ _Gg\gx) __ 450 l:/mm
N = Act™) =bx (200 mm)x(—W):—goxm3 N

b. ™) =_6 N/mm?

oM —6 N/mm?

_ ~(N) (M)
Ooutermost fibers — O * O max
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